
PSfrag replacements

PROBLEM:

(a) Consider the signal x(t) =
20 sin(2π t)

π t
. Make a carefully labeled sketch of x(t) in the space below.
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(b) Determine the Fourier transform of y(t) = x(t − 2).

(c) Now consider the periodic signal p(t) plotted below:
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The Fourier series for this input can be simplified to the following form:

p(t) =
1

4
+

4

π2
cos(ω0t)+

4

9π2
cos(3ω0t) ω0 = rad/sec??

Either write an equation for P( jω), the Fourier transform of p(t), in the space below, or plot it on
the axes below. You must label your plot carefully to receive full credit.
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